Al

He is a doctor she is a nurse.

Answer:

| like tea my sister likes coffee.

Answer:

She went to the store she needed some milk.
Answer:

He is not only tall also very strong.

Answer:

I will go for a walk it stops raining.

Answer:

We studied hard we passed the exam.
Answer:

She is both intelligent hardworking.

Answer:

He doesn't like vegetables, he eats them anyway.
Answer:

| went to the park | saw many birds.

Answer:

She is tired she didn't get enough sleep.

Answer:




Answers

He is a doctor she is a nurse.
Answer: but
| like tea my sister likes coffee.

Answer: while

She went to the store she needed some milk.
Answer: because

He is not only tall also very strong.
Answer: but
I will go for a walk it stops raining.

Answer: unless

We studied hard we passed the exam.

Answer: so

She is both intelligent hardworking.

Answer: and

He doesn't like vegetables, he eats them anyway.
Answer: but

| went to the park | saw many birds.

Answer: and

She is tired she didn't get enough sleep.

Answer: because



